LINE INTEGRALS - ANSWERS

1. Evaluate L xyds where C is the unit circle traversed once in the counterclockwise
direction.
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2. Evaluate J'C xy dx where C is the unit circle traversed once in the counterclockwise
direction.
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3. Evaluate L xydy where C is the unit circle traversed once in the counterclockwise
direction.
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4. Evaluate nyds where C is the straight line from (0,0) to (2,4).
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5. Evaluate L xydx where C is the straight line from (0,0) to (2,4).
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6. Evaluate L xydy where C is the straight line from (0,0) to (2,4).

b
[ xydy=] x(t)y(t)%dt

a

Xx=2t g
y:4t:>d—y=4
0<t<1
b 1 31
dy 2 32t 32
xydy = | x(t)y(t)=dt=|8t°-4dt=——| =—
fc”l()y()dt j 173




7. Evaluate '[cxds where C is the curve y=x* where 0<x<1.
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8. Evaluate J.dex where C is the curve y=x* where 0< x<1.
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9. Evaluate '[dey where C is the curve y=x* where 0<x<1.
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